HiTHA

®H

201 64EETOVIERFTIL—T U—10U—4SEER

XATHI(6~8H) . BB (10~ 12A) IZHFTY—VBEET 5. (SEIE7A~11ADFE)

OB ---15—5—15% (8 Al
O FP.GKELEEDHAZHB TR TLIEHAEDELFETD)
OBMER BF LR RICTERFATH LI FHRMAATEEZRPTHLSMAEELT D EL. BFEP THAZLFAHTSCHNETERBEATHDIIL,

@1—h---60X40m(FDHFEY RKEH A X)

O IHE R R K - RHEERIVFEANCE - FEoHED4TF— L BBKREIERHAESD2F—LTITS,
OHHE L2 F — AIXHRIOVIRKITHIG LT B (TOVIREBAEELLITA)

OFEY - EEOH (MEY IN—T4FE)—J (THEBELLT D)

27 iM 432 hE X A% &R B = TR KR (e JE L
o o 0-3 O 3-2 (@) 4-0 O 1-0 O 17-1 " 49 1 35 |
o 1-3 O 5-3 (@) 1-0 O 4-2 O 13-0
15 O 3-0 o 0-1 o 0-1 A 2-2 O 6-0 17 31 9 29 3
O 3-1 o 0-2 O 4-0 A 2-2 O 11-0
i [ 2-3 (@) 1-0 (@) 5-1 () 3-4 (@) 7-0 " 35 " 19 .
[ ) 3-5 @) 2-0 A 1-1 () 0-2 ©) 11-0
- ® 0-4 (@) 1-0 () 1-5 () 0-6 (@) 9-0 10 " 03 - 5
[ 0-1 () 0-4 A 1-1 () 0-2 @) 4-0
a5 ® 0-1 A 2-2 O 4-3 (@) 6-0 @) 12-0 20 2 i 20 )
[ 2-4 A 2-2 O 2-0 @) 2-0 @) 10-0
=R ® 1-17 () 0-6 () 0-7 () 0-9 () 0-12 0 ! 100 ~09 6
[ 0-13 [ 0-11 [ 0-11 [ 0-4 [ 0-10
174 174 0
7/16(%) =5 BEH/NER SBEE:. e 9/4(H) 25 EEHENER SSEETBH =3 9/22(K) =H:wENMNER SBET ER =y
9:00-9:35 E5im 3-2 hE ZE M 1-0 BE% Pl L& 0-1 hE ZX
9:40-10:15 BT 0-6 A% B7iM Pl a3 6-0 E3 5 iM B 9-0 e PE
10:20-10:55 E5im 0-3 L% HE M 4-0 BT ER pE 3-4 BE IR
11:00-11:35 hE 5-1 ZX bl Pl 2-2 HE BF L& 0-1 Z£X B %
11:40-12:15 A% 12-0 B IR hE hE 7-0 R HE% EpM 17-1 =R L%
12:20-12:55 Pld:54 ILURY— HE ILURY— ILURy—
13:00-13:35 ZX ILURY— &R ILURY— ILURy—

10/22(1) =5 WEMNER RGEEEH = 11/19(F) 235 BLEEINER  RIBEE BN ¥ 11/26(1) =5 BINFER RISEET.EX =
9:00-9:35 A% 2-0 B M fEIR 0-11 Fl 34 BE% &R 0-4 BE PE
9:40-10:15 hE 3-5 E5im BE A% 2-4 5 iM EIR hE 2-0 434 IR

10:20-10:55 EIR 0-10 A% hE EIR 0-11 hE Epim IR 0-13 M bl
11:00-11:35 BE 1-1 hE IR A% 2-2 b3 RE B 0-4 434 5
11:40-12:15 L% 3-1 oM BF ZE 0-1 oM L% B % 2-0 hE BF
12:20-12:55 TLURY— SR — SLoFU—
13:00-13:35 TLURY— LR — DLy —




